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Py 6, 160,000 6,160,000 0
s 400,000 0 400,000
= 60,000 60,000 0
® 4,369,666 4,369,666 0
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s 400,000 0 400,000
2 714,000 714,000 0
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2 12,548,000 13,208,000 660,000
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2 5,456,373 5,378,373 78,000
St+20t Hl 5,171,399 5,981,399 810,000
2 3,866,000 4,676,000 £810,000
2 1,305,399 1,305,399 0
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2 3,366,000 4,176,000 £810,000
2 1,078,399 1,078,399 0
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s 4,150,974 4,072,974 78,000
EF sHEMSot=% EHALZ 537,000 297,000 240,000
= 376,000 226,000 150,000
< 31,000 19,000 12,000
[ia 130,000 52,000 78,000
401 Al I 28I 537,000 297,000 240,000
= 376,000 226,000 150,000
< 31,000 19,000 12,000
s 130,000 52,000 78,000
01 A& HI 533,133 187,661 345,472
O3B ALY 533,133 187,661 345,472
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533, 133,000& 533,133 187,661 345,472
= 376,000 187,661 188,339
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O=HIEXZ ALY 0 107,200 A 107,200
—8F sUE Otsot=& FHAY 0& 0 107,200 A 107,200
= 0 38,339 A 38,339
< 0 19,000 A 19,000
s 0 49,861 A 49,861
03 AlE =2 THHI 3,867 2,139 1,728
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SIIHELHEES 5,279,173 5,133,173 146,000
< 300,000 300,000 0
s 4,979,173 4,833,173 146,000
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